

$\sqrt{T} = \sqrt{10^{12}} = 10^6 = M$	$\frac{1}{T} = p$	$pT = 1$	$\frac{p}{T} = 10^{-24}$
$\sqrt{G} = \sqrt{10^9} = 10^4 * \sqrt{10} = \sqrt{10} * 10k$	$\frac{1}{G} = n$	$Gn = 1$	$\frac{G}{n} = 10^{18}$
$\sqrt{M} = \sqrt{10^6} = 10^3 = k$	$\frac{1}{M} = \mu$	$M\mu = 1$	$\frac{M}{\mu} = 10^{12}$
$\sqrt{k} = \sqrt{10^3} = 10 * \sqrt{10}$	$\frac{1}{k} = m$	$km = 1$	$\frac{k}{m} = 10^6$
$\sqrt{m} = \sqrt{10^{-3}} = \frac{10^{-1}}{\sqrt{10}}$	$\frac{1}{m} = k$		$\frac{T}{p} = 10^{24}$
$\sqrt{\mu} = \sqrt{10^{-6}} = 10^{-3} = m$	$\frac{1}{\mu} = M$		$\frac{n}{G} = 10^{-18}$
$\sqrt{n} = \sqrt{10^{-9}} = \frac{10^{-4}}{\sqrt{10}} = \frac{0,1m}{\sqrt{10}} =$	$\frac{1}{n} = G$		$\frac{\mu}{M} = 10^{-12}$
$\sqrt{p} = \sqrt{10^{-12}} = 10^{-6} = \mu$	$\frac{1}{p} = T$		$\frac{m}{k} = 10^{-6}$